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• ke = âhe Ùee  pe eBÛe  k eâ j  ue W efke â F me  Øe Mve -he $e  ce W c e ge fõle  he =‰ 16 leL e e            
Øe Mve  20 nQ~ 
Please make sure that the printed pages in this 

question paper are 16 in number and it contains 

20 questions. 

• Øe Mve -he $e  ceW oe e fnve s ne L e k e âe r De e sj efoÙe s ie Ùe s k eâes[ vecy ej le L e e mesš  ke âe s Úe$e  
Gòe j -h e ge fml e ke âe  ke s â  ce gKÙe -he =‰ he j  e fue Ke W~ 
The Code No. and Set on the right side of the 

question paper should be written by the candidate 

on the front page of the answer-book. 

• ke = âhe Ùee  Øe Mve  ke âe  G òe j  e fue Ke ve e Me g™ k e âj ve s mes he nue s , Øe Mv e  ke âe  ›e â cee b ke â  De Je MÙe  
e fue Ke W~ 
Before beginning to answer a question, its Serial 

Number must be written. 

SET : B 
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• Gòe j -h e ge fml e ke âe  ke s â  ye e rÛe  cesb  Ke e ue er h e vve e /he vve s ve  Úe sÌ [W~ 

Don’t leave blank page / pages in your answer-

book. 

• Gòej-hegefmlekeâe kesâ Deefleefjkeäle keâesF& DevÙe Meerš veneR efceuesieer~ Dele: 
DeeJeMÙekeâleevegmeej ner efueKeW Deewj efueKee Gòej ve keâešW~ 

Except answer-book, no extra sheet will be given. 

Write to the point and do not strike the written 

answer. 

• he j er#e eL ee a De he vee  je sue  ve b 0 Øe Mv e -he $e  he j  De Je MÙe  e fue Ke W~ 

Candidates must write their Roll Number on the 

question paper. 

• ke = âhe Ùee  Øe Mve eW ke âe  Gòej  osves me s he tJe & Ùe n me ge fve e fMÛe l e  ke âj  ue W e fke â Øe Mve -he $e  he tCe& 
Je  me ne r nw , h ejer# ee ke s â Gh ejevle Fme mecy evOe ceW k eâesF& Yeer oe Jee mJe erkeâ ej 
veneR efk eâÙe e p eeÙe siee~ 

  Before answering the questions, ensure that you 

have been supplied the correct and complete 

question paper, no claim in this regard, will be 

entertained after examination. 

mee ceevÙe  efveoxMe : 

 (i) me Ye er ØeMve  De efveJe eÙe& nQ~  

 (ii) Ø e lÙe ske â  Øe Mve  k es â efve Oe e &efj le  De b ke â Gme ke sâ  me e ce ve s efoS  ieS  nQ~  



 ( 3 ) 3011/ (Set : B) 

3011/ (Set : B)  P. T. O. 

 (iii) ØeMve mebKÙee 1 ke âe s iÙ eejn (i-xi ) Jemlegefve‰  heÇMveeW cebs yeeBše ieÙee 

nw~ ØelÙeskeâ  ØeMve 1 De b ke â k e âe  nw~  Øe Mve  (i) me s (vi) lekeâ 

yengefJekeâuheerÙe ØeMve nQ~ ØelÙeskeâ ØeMve kesâ efueS efoÙes ieÙes Ûeej efJekeâuhee W 

ceW mes Skeâ  mener efJekeâuhe Ûegvevee nw~ peyeefkeâ  ØeMve  (vii) mes (xi) 

lekeâ mener  Ùe e  ieuel e Øe k eâ ej  ke sâ Ø e Mve  nQ~  

 (iv) Ø e Mve  me b KÙ e e   2 me s 9 le k e â  De e fle -ue Ie tòe je lc e ke â Øe Mve  nQ~  e fpe ve ceW 

Ø e lÙe ske â  Øe Mve   2  De b ke âe W ke âe  nw~ Øe lÙe sk eâ  k e âe  Gòe j  mee ce e vÙe le : 30 

Me yoe W me s Dee fOe ke â ve ne R ne svee  Ûe e efnS ~ 

 (v) Ø e Mve  me b KÙe e  10 me s 17 le keâ  ue I etòej e lce ke â  Ø e Mve  nQ e fpe ve ce b s mes 

Ø e lÙe ske â  Øe Mv e  4 De b ke âe W ke âe  nw~ Øe l Ùe ske â ke âe  G òe j  mee c ee vÙe le : 60 

Me yoe W me s Dee fOe ke â ve ne R ne svee  Ûe e efnS ~ 

 (vi) Ø e Mve  me b KÙe e 18 mes 20 l e ke â oe rI e& Gòe j e lce ke â  Øe Mv e  nQ , e fpe ve ceW 

Ø e lÙe ske â  Øe Mve  7 De b k eâ e W ke âe  nw~ Øe lÙe ske â k eâ e  Gòe j  me e ce e vÙe le : 130 

Me yoe W me s Dee fOe ke â ve ne R ne svee  Ûe e efnS ~ 

 (vii) me Ye e r oe rIe & G òe je l ce k e â  Øe Mvee W ce W Dee v lee fj ke â  Útš Ghe ue yOe  nw~ S smes 

Ø e Mve e W ceW me s De e he ke âe s k es âJe ue  S keâ  ne r Øe Mve  ke âj ve e  nw~ 

 (viii) Me yo-me e rce e  me t$e e W , me b KÙe e lce ke â  le L e e  jsKe ee fÛe $e  Je e ue s Øe Mve eW he j  ue e iet 

v e ne R nw~  
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General Instructions :  

 (i) All questions are compulsory. 

 (ii) Marks for questions are indicated against 

each. 

 (iii) Question No. 1 is divided into eleven (i-xi) 

objective type questions. Each question 

carries 1 mark. From questions (i) to (vi) are 

multiple choice type questions. One correct 

option has to be chosen out of four options in 

each question. While question (vii) to (xi) are 

of True and False type questions. 

 (iv) Question Nos. 2 to 9 are very short answer 

type questions carrying 2 marks each. 

Answer to these should normally not exceed 

30 words each. 

 (v) Question Nos. 10 to 17 are short answer 

type questions carrying 4 marks each. 

Answer to these should normally not exceed 

60 words each. 
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 (vi) Question Nos. 18 to 20 are long answer  

type questions carrying 7 marks each. 

Answer to these should normally not exceed 

130 words each. 

 (vii) Internal choice is available in all long 

answer type questions. You have to attempt 

only one of the given choice. 

 (viii) Word limit is not applicable to formulae, 

numericals and diagrammatical questions. 

[ Jemlegefve<" ØeMve ] 

[ Objective Type Questions ] 

       mener  e f J e ke âuh e eW k e âe  Ûe g ve e Je  ke âe re f pe S  : 

 Choose the correct alternatives : 

  1. (i) e f ve cve e f uee f Ke le ce W mes k e âe w ve-mee  ØeJ e e n Ûej  ve neb r   nw  ?  1 

  (A) Je s le ve   

  (B) ce e e f me ke â  he âe r me 

  (C) Oe v e 

  (D) F ve ce W me s k eâe s F& ve ne R  
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  Which one of the following is not a flow 

variable ?   

  (A) Salary  

  (B) Monthly fee 

  (C) Wealth  

  (D) None of the above 

 (ii) e f ve Je ue ef J e osMee r k eâ e j ke â Dee Ù e ke s â ce g KÙ e De b ie nwb  : 1 

  (A) ke âce & Ûee e f j Ùee W ke âe e fve Je ue  hee e f j ßee fc e ke â  

  (B) me ch e e f òe  S Je b GÅe ceMee r ue le e  mes efv e Je ue De e Ùe   

  (C) e f Je osMe e W mes e f veJ e ue Ø ee f le Oe ee fj le De e Ùe  

  (D) Gh e je s ke ä le  meYe er  

  Main components of net factor income from 

abroad are :    

  (A) Net compensation of employees   

  (B) Net income from property and 

entrepreneurship   

  (C) Net retained earnings of resident 

companies abroad  

  (D) All of the above  
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 (iii) oe s nj e r ie Ce ve e k es â h e âue mJe ™ he je °^ e r Ùe  De e Ùe keâ e : 1 

  (A) De lÙe e fOe k e â  De ve g ce e ve ue ie pe e lee  nw 

  (B) De uhe  De ve g ce e ve ue ie pe e lee  nw 

  (C) me ne r De ve g ce e ve ue ie pe e lee nw 

  (D) Gh e je s ke ä le  meYe er  

  As a result of double counting national 

income is :  

  (A) Over estimated  

  (B) Under estimated  

  (C) Correctly estimated   

  (D) All of the above  

 (iv) Ye e j le c e W pe e j er ke âj W mee r nw :   1 

  (A) De he e fj Je le & veMe e r ue  

  (B) he e fj Je le & veMe e r ue  

  (C) oe s ve e W (A) De e w j  (B)  

  (D) F ve ce W me s k eâe s F& ve ne R  
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  Indian currency is : 

  (A) Inconvertible   

  (B) Convertible   

  (C) Both (A) and (B)  

  (D) None of these   

 (v) k e s â vpe ke s â De ve g mee j  AD le Le e AS ke âer me ce e ve lee  (me vle g ue ve ce W) nes 

me ke â lee r nw :   1 

  (A) De uhe j e s] pe ie e j  ke âe r e f mL ee f le 

  (B) he t Ce & j es] pei ee j  ke âe r ef mL e e f le 

  (C) De e f le he t Ce & j es] pe ie e j  ke âe r ef mL ee f le 

  (D) Gh e je s ke ä le  meYe er  

  According to Keynes, Equality (Equilibrium) 

between AD and AS can take place in a 

situation of :  

  (A) Less than full employment 

  (B) Full employment  

  (C) Beyond full employment  

  (D) All of the above  



 ( 9 ) 3011/ (Set : B) 

3011/ (Set : B)  P. T. O. 

 (vi) Ù e e f o MPC = 0 nw, le e s ieg Ce k eâ  (K) k e â e ce t uÙ e ne siee  : 1 

  (A) 1 

  (B) 0 

  (C) 2  

  (D) ∞   

  If MPC = 0 the value of multiplier (k) will    
be :   

  (A) 1 

  (B) 0 

  (C) 2  

  (D) ∞   

e fve cve e fuee fKe l e  ke âLe ve  me ner  nQ Ù e e  ieue le ye le e FS  : 

State whether the following statements are true                                       

or false :  

 (vii) ‘ De Je mh eâe r e f le k e â  De b le je ue’  vÙ et ve ce eB ie  ke âe ce e he  nw~ 1 

  'Deflationary gap' is a measure of deficient 

demand.  
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 (viii) y e Q ke â oj  Je n oj  nw pe e s ye Q ke â  mejk e âe j  ke âe s $ e +Ce os ve s hej  ue s les nwb ~ 1 

  Bank rate is that rate which is charged by 

the banks when giving loans to the 

government.   

 (ix) k e s â võe r Ùe G lhee ov e Me g uk e â DeØ e lÙ e# e k eâj  nw~ 1 

  Central excise duty is an indirect tax.  

 (x) e f Je osMe e r e f Je ef ve ce Ùe  ye e pee j  ce W ›e âÙe  Me e f ke ä le ke â e nml e e b le j Ce            
k e â j lee nw~   1 

  Foreign exchange transfers the purchasing 

powers in the market.  

 (xi) J Ùe e he ej  Me s <e, Ye g ie le e ve  Me s<e ke â e S k e â  Ye e ie  ve ne R nw~ 1 

  Balance of trade is not a part of balance of 

payments.  

[ DeefleueIeg GòejerÙe ØeMve ] 

[ Very Short Answer Type Questions ] 

  2. me ce ef °-o= e f °Je âe s Ce me s S ke â DeL e &JÙe Je mL e e ke sâ Ûeej  # e s $ee W k e sâ  ve e ce       

e f ue Ke W~  2 

 Write the names of four sectors of an Economy 

from the macro point of view.  
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  3. De e Ùe  k es â  Ûe›e âe r Ùe Øe Je e neW ce W ‘ #ej Ce’  Je ‘ Ye j Ce’  k e âe r O ee j Cee De eW ke âer J Ùee KÙe e 
ke âj W~  2 

 Explain the concepts of leakages and injection in 

circular flow of income.  

  4. Øe Ù ee s pÙe De e Ùe  me s ke ä Ùe e  De e fYe Øee Ùe nw ?  2 

 What is meant by personal disposable income ?  

  5. he g je vee r ke âe j ke sâ  Ke je r o ce t uÙe ke âe s me ke âue je °ê r Ùe Glh ee o (GNP) ceW 
Me e e f ce ue ke ä Ùe eW ve ne R e f ke âÙe e pe e le e ? 2 

 Why the purchased value of an old car is not 

included in GNP ? 

 

  6. ce g õe Dee JeMÙe ke â lee De e W ke s â oe snj s me b Ù ee s ie  ke âe r k e âe f "ve e F& ke âe s ke w â me s ot j      
ke âj le e r nw ? 2 

 How does money solve the problem of double 

coincidence of wants ?  

  7. Ùe e f o De ew me le Gh eYee s ie Øe Je =e f òe  0.7 nw le e s De e w me le ye Ûe le Øe Je =e f òe ef k e â le ve er 
ne s ie er ? 2 

 If average propensity to consume is 0.7 how 

much will be average propensity to save ?  

  8. ye Ûe le k es â ye pe š k e âe r hee f j Ye e <e e oW~  2 

 Define surplus budget.  
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  9. Ûe e ue t ef Je e f ve ce Ùe oj  k e ä Ùe e  nw ? 2 

 What is meant by spot exchange rate ?  

[ ueIeg GòejerÙe ØeMve ] 

[ Short Answer Type Questions ] 

10. me k e âue  e f ve J esMe l eL ee  Me gæ e f ve Je sMe ce W Ye s o ye le e FS ~  4 

 Differentiate between Gross investment and Net 

investment.  

11. yee pee j  ke âe r ce le  h ej  me ke âue  I e j s ue t Gl he e o leLe e  ke âe j ke â ue e ie l e he j  me ke âu e 
I e js ue t Glh e e o ce W De vle j  mhe ° ke âj W~ 4 

 Distinguish between MPGDP  and FCGDP . 

12. oe s nj e r ie Ce ve e k e âe r me ce mÙe e ke ä Ùe e ne s le e r nw ? F me k e âe r JÙe e KÙe e ke â jW~ 4 

 What is double counting problem ? Explain it.  

13. ye Q ke â  Ke gu e s ye e pe ej  ke âe r e f ›e âÙe e Ée j e e f ke âme  Øe ke âe j  mee Ke ke âe ef ve Ùev$e Ce ke âj le e 
nw ? J Ùe e KÙe e ke âj W~ 4 

 How does a central bank control the availability 

of credit by open market operations ? Explain    

it.   
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14. he t Ce & j e s pe ie e j  me s ke ä Ùe e De e fYe Øe eÙe  nw ? k e ä Ùe e  h et Ce & je s pe i ee j  ke âe r ef mL ee f le  ceW 
ke âes F & ye s ke âe je r ve ne R ne s lee r ? 4 

 What is full employment ? Is there no 

unemployment in the situation of full 

employment ?  

15. De e fOe ce eB ie ke âe s "e r ke â ke âj ves k es â e fue S  ce ew ef õke â  ve e r ef le ke âe kew â me s ØeÙ e e s ie  e f ke âÙe e 

pe e l ee nw ? JÙe e KÙe e ke â j W~ 4 

 How monetary policy is used to correct excess 

demand ? Explain it.   

16. me j k e âe j  ke â er ke âj s òej  De e Ùe (Non-tax revenue) ke s â Ûeej  œe e s le eW k e âer 

JÙe e KÙe e ke â jW~ 4 

 Explain the four sources of Non-tax revenue of 

the government.  

17. e f Je ef ve ce Ùe oj eW c e W he ef j Je le & veMe e r ue le e ke s â ke ä Ùe e ke âe j Ce nwb ? 4 

 What are reasons for volatility in exchange     

rates ?  
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[ oerIe& Gòejelcekeâ ØeMve ] 

[ Long Answer Type Questions ]  

18. j e °ê r Ùe De e Ùe ke âe s ce e he ves k e âe r Gl he e o e f Je efOe  ke âe r J Ùee KÙe e ke âjW~  7 

 Explain product method for measuring National 

Income.  

DeLeJee 

OR 

 e f ve cve De eB ke âÌ [eW mes (a) MPGDP  l eLee (b) FCNNP  ke â e De e ke âue ve     

ke âj W :  7 

        ceoW  ®h eÙes ( k eâjesÌ [ ceW ) 

(i) e f ve Je ue  De Øe l Ùe# e ke â j 38 

(ii) mL e e Ùe e r he bt pee r De Je#e Ùe  34 

(iii) e f Je osMe e W mes De e f pe& le  e f ve J e ue ke âe j ke â De e Ùe   (–) 3 

(iv) ue ie e ve 10 

(v) ue e Ye 25 

(vi) y Ùe e pe  20 

(vii) j e Ùe uše r 5 

(viii) ce p e ot j e r SJe b Jes l e ve 170 

(ix) me e cee e f pe ke â me g j#e e ce W ceee f ue ke âe W ke â e Ùe es ie oe ve 30 
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 Calculate (a) MPGDP  and (b) FCNNP  from the 

following data :  

         Items                             Rs. (in Crore) 

(i) Net Indirect tax 38 

(ii) Consumption of fixed capital  34 

(iii) Net factor income from abroad  (–) 3 

(iv) Rent  10 

(v) Profit  25 

(vi) Interest  20 

(vii) Royalty  05 

(viii) Wages and Salary  170 

(ix) Employers' contribution to social 

security  

 

30 

19. Je ml e g e f Je ef ve ce Ùe  Øe Ce e ue e r ke âe r ke âe f"v e e F Ùe e W ke âe r J Ùe e KÙe e ke âe re f pe S ~   7 

 Explain difficulties of barter system of    

exchange.  
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DeLeJee 

OR 

 S k e â e f Ûe $e ke âe r me ne Ùe le e mes DeJe mhe âe r ef le ke â De b lej e ue ke âe r Oe e j Cee k e âe  Je Ce & ve 
ke âj W~  7 

 Explain the concept of deflationary gap with the 

help of a diagram.  

20. ye pe še r Ùe I e e šs ke âe s e f ve Ù e be f$e le k e â j ves k e sâ e f Je e fYe vve G he e Ùe eW k e â e r J Ùe e KÙe e     

ke âer e f peS ~ 7 

 Explain the various measures to control 

budgetary deficit.  

DeLeJee 

OR 

 ‘ ue Ûe e r ue e r e fJee f ve ce Ùe oj  Øe Ce e ue e r’  ke sâ ie g Ce eW leLe e  oe s <ee W ke âe me be f# e hle  Je Ce & ve 

ke âj W~  3
2

1  + 3
2

1  = 7  

 Explain in brief merits and demerits of 'Flexible 

exchange rate system'.  

SSSS  


